Name
Pre'Calculug Honors Ms. Hindal
Unit 1 Day 6

Objective 1.6: Modeling

Do Now:
;. Whel'g is the function at right increasing? Is it bounded? Continuous? Even? Odd?
. Wl;at is thE domain of the foll%wing‘. f(x) =V(x-3)+17/(x+2) D [3,°°
- Inov: -4 0770 0o Jower bounded ;| covhinuous | evevi
Modeling and Regression: L4, ! S
Regression line: line of *_egt $11— g

Coefficient of Determination, r2: measures how well a line or curve fits the __détﬁ__/—— e »

r2isbetween __ (§ and__ | .Aline thatfits perfectly hasanr?of _| .

Types of Regression:

Linear Exponential
Quadratic (related to the square function) Power (related to the square root
Cubic (related to the cube function) Logistic

And more!

Logarithmic

We can use modeling to 'DVQOiCT and M

function and others)

Best Deal Example: As your graduation present, your grandparents offer to buy you a used car for college. Their only
requirement is that you do the research and find the best deal possible. After searching newspapers and local dealerships,

you find 10 cars that you like. Here are the ages of the cars and their selling prices:

ége inyears | 4 2 3 4 5 6 9 9 11 13
lf(;i)ce indollars | 15995 | 10495 | 10995 | 7990 | 6995 |5990 | 3200 |3995 |2900 | 1750
Create a scatter plot of the data on your calculator. What parent function(s) does it look similar to?
lnear, Qadrahic, cvbic, B exporen)ial, efe.
Then find a linear regression model, f(x), of the data (round to the hundredths).
y = -922.4bx + 12,542 .00
Find the quadratic regression model (round to the hundredths). Is it better or worse? List two reasons why.
j = p2.2dx2 177N x + 14 54655 °1°?;‘V§hcc S By s on
Population Prediction Example: _ @hﬁ_f‘?}g}:‘o}{y Ty ‘I:O("m vs.

¥335 2;a6ska Plot the data on your calculator. What type of regression might fit this data?
1910 64.4 quare, Cube, exporenta(, logpshic
1920 55.0
1930 59.2 Find a regression model of your choice (round to the hundredths) with x representing
1940 72.5 the years after 1900 and plot it with the data. Is it a good fit? List 2 reasons why.
1950 128.6
1960 226.2 Vavigble anawexs. reasons Shoy id relate to hee raph
1970 302.6 and  y2 N,
1980 401.9 Find another model with a different regression'type. Is it a better model? Why or why
1990 550.0 not?
2000 625.9 XL 3dbove .

Homework: Study!

Tips:

1.
2. Make flash cards to study the parent functions! Make sure you know how to graph them all!!

3. Go through the review questions and check your answers (answers on my website @ bit.ly/Hindal364 )

The table at left describes the population (in thousands) of a state based on the year.

Study by going through problems that we did in class. Cover up the answers and try them again before checking!
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